2 Digit Division

Name: Class:

Calculate the quotient and remainder

37+4= 42 + 9=

22 +5= 26 -4 = 29 +8 =
37+5= 42 + 8= 23+ 4 =
21+6= 25+ 3 = 25+ 8 =
29 +5= 18 +7= 30+7=
/5+9= 24 =5 = 45 - 8 =
56 +9 = 28 + 6 = 206 =
84 +9= 35+ 8= 41 -6 =
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37 +4 =

22+5=

37 +5=

21+6=

29+5=

75+9 =

56 +9 =

84 +9 =

Calculate the quotient and remainder

9R1

4R2

/R2

3R3

5R4

8R3

6R2

9R3

Answers

42 +-9= 4R6
26+4= 6R2
42 +8= 5R?2
25+3= 8R1
18+7= 2R4
24 -5= 4RA4
28+6= 4RA4
35+8= 4R3
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29+ 8 =

23+4 =

25+ 8 =

30+7=

45 + 8 =

20+ 6 =

41 + 6 =

3R5

5R3

3R1

4R 2

5R5

3R2

6R5



